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1 N(PmHn) N(P4) N( Hz) =
4:1:6
PmHu P4 HZ
4P H, =P, +6H,
P H m=1n=3

m>n

PH,

> Fe + CuSO, ==Cu + FeS0,

56 64 64 -56 =8
Zn + CuSO, =—=Cu + ZnS0O,
65 64 65 -64=1
3
C o
A.H,S0, B.HCl C.CuSO, D.AgNO,

H, ( )

) :
Zn + H,S0, =—=7nS0, + H, 1

o

Zn( NO,) , +2Ag

Zn +2AgNO,

2AgNO,  Zn( NO,),

2Ag  Zn
D.

2.
(n + — o+
2HCI + Mg( OH) , ==MgCl, +2H,0
(2) + — o+
H,S0, + CuO CuSO, + H,0
(3) + — +H,0+CO, T

2HCI + CaCO, ==CaCl, + H,0 + CO, 1
(4 + E -

2NaOH + CO, ==Na, CO, + H,0

FeS +2HCl ==FeCl, + H,S 1

3, (

)
(n  + — +H,0+CO, 1
2HCI + Na,CO, =—=2NaCl + H,0 + CO, 1
(2) + — +
H,S0, + BaCl, —=BaS0, | +2HCl
(3) + — +
2NaOH + CuCl, ==Cu( OH) , | +2NaCl
(4) + —
Na,S0, + BaCl, —=BaSO0, | +2NaCl

4
( o
A.Mg B.MgO C.Mg(OH), D.MgCO,
Mg + 2HCl =—MgCl, + H, 1
MgO +2HCl ===MgC(l, +2H,0
MgCO, +2HCl ==MgCl, + H,0 + CO, 1
HCl

MgCl, o
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4PH, =P, +6H,

2
V,./V,
=n,/n,.
2 N
N, H, 1:3( )
NH, 25%/(
) o N, 100 mol
N, NH,?
100 mol N, x mol NH,

N, + 3H, — 2NH,

1 mol 3 mol 2 mol

x mol 3x mol 2x mol

(100 - x) mol (300 —3x) mol  2x mol

2
2x
100 —x +300 - 3x +2x =25%
x =40( mol)

3

P1/Py =ny/nyo
3
120C
270 mmHg

390 mmHg,

MCH,, +90, ==C0 +5C0, +7H,0
@CH,, +70,=—=5C0 + CO, +7H,0
®)CH,, +80, ===3CO0 +3C0, +7H,0
@2C.H,, +150, ==8CO0 +4CO0, +14H,0
N 3
n,/n,=p,/p, =270/390 =9/13
9:13
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V.V, =
M, /M, .
4 N N
( ) o
A. B.
C D.
D.
5
D,/D, =M, /M,(
D,/D,
) o
5
( ) o
A.2:1 B.3:1 C.1:3 D.1:1
D,
M D,
M, 5 D, =D, M, =M,.
x mol y mol
oleredy
x+y
16x +44y o,
x+y
txty =101
2
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